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INFPEEAC DC/DC 22 #2547
UKy buck, boost, buck—boost, cuk, zeta, sepic AF#fa%
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PR LLEAF RN 2 DCIDC AR g /NSRRI, A A £ KN SRR b
J& buck 1 boost, HAMIE AR K . buck AB s 4 B R AR s, 2 AR s, T
R ANEA 2 buck BE, WIEREL B, W, HEHRSESE. boost AR s o4 buck XA
Widh, RTHERARES, W T/NSRRERIE, K% PRC g b, X TR 2 1 boost AF s th
AR, B, SE M. buck—boost /& SOBARHeds (IR A, 8 T B AR e ds . J5 i —
MR AN RN, AR THR e AR s o MRRER I A BER U, I S8 AR 40 2% 1A AN N HH 45 () IRk
WK . WakJE buck ffE 5 2L 1, boost 4 0, buck—boost 2 0.5,
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BN 25, WU S =P AR A M ok, 78 LS k4 H boost 1

B B AR .. RO s L IE IR ds ... ,APFC.....PPFC....
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= H PR R 28 (three level converter)
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F PR B = i °F DC/DC A4 s
(@)Forward —Hi°F- DC/DC “& 4%

(c)Push-Pull = H°F- DC/DC A& #t 4%
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